 Use a V«Rn:._, wqemol...o: 4o solve. (use cale)

) What is 158 of 487

D) Al is Wwhot % of 1507

®) |§ is what % of 5067

4) What is 123 % of IS7?

5) 12 is 36% of what #?

DXL )~u 2% of whet #7?

Qb,. o /.



Weite as & decemal ona then as a fraction.

Lo .

N 50% =

DY5% = e

ﬁubn_.\. 32



| qun as a .3&0.:3 ond then as a an.nns....

) .08L = — = 7
DII2g = — = 2
DILLsg = — = —— 2
H .28 =2 — = —2=%
.33 = — % e
©.125 =2 — = 2

_aqe 2-



~ NO cAccutaToes!!  Name

N

Write as o decimal onl +hen as a Vnanni

v o g
»vnm... —_— I
> - = 2
._V.M.u = 2
mku —
|2 — = —% .



